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1. FBERC T sy RNV H e T %‘%fﬁlg'ﬁﬁéﬁﬁ?“ T i Ree  [20 53]
T fflr = |y TR
Q: ['#(mm dd)? 13 10 %;ﬁl’f%‘@@* mm, dd, ndays
A: i SR E[ﬁ?“ SHaB > PR SHREEL «
Q: F!#(mm dd)? 2 30 F%z F|E) 28 |
A: fi Efi +6+9+11 %% 30 [
Q: [!#(mm dd)? 3 10 EI@%E (31 o
A: 1F]1FIZ3F10f! IR | TR, int maxdays[13];
31+28+10 = 69 ~

[ A Date conversion: dd-mm-yyyy to words

Q: enter date (dd-mm-yyyy): 25-12-2005

A: Dec 25, 2005

January, February, March, April, May, June,

July, August, September, October, November, December

2. BEHLCHI S BT APWEL () EPERED - [205]

APIEER (FIED - R E($9) ~ HE($12) ~ 5 ($5) ~ 1V1($30)
#j@ibl":f%il?'lf/ﬂ* :
Q: 1% ’Jf%’? 100
A: $100 ['Ef PrX($30)3 [~ EE I ($9)L [ - 5[ $1
Q: 1% J/%%’? 50
Az $50 fiEd PrI($30)1 [~ eRA($12)1 [ - FEIN ($5)1 i > F51p1 $3

Hi NE:“‘EE%? B RS il -
FELSIGl s A gpR(foodDD), Fifi(pricel])
A ()
FF @G (TE (amount) , HrEl(qty)
AR = 0 R O P

3. EF{E‘TL{ Year end Bonus

year([] 5 10 15 20
rate[] 3% 5% 10% 15%
EZ T HEIELRL
Q: T [BEFEY? 3 Q: T [EFE¥? 10
A TRl = $0 EI3? 10000
A: FR¥ [ty = $10000 x 5% = $500
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4. FWERF Money (1000,500,100,50,20,10,5,2,1)

note[] 1000 500 100 50
freq[]
#define MAX 9
int num[MAX] = {1000,500,100,50,20,10,5,2,1};
HAHPO
Q: &%% (1-3000): 1234
A: 1000+100+100+20+10+2+2=1234
A
A: 1000+100x2+20+10+2x2=1234

T

5. FVR CAHZY o o P fFry Be(0-9) L TRAR , Bed” (IVXLCDM) - [20 53]
arabic[] 1000 900 500 400
roman([] M CM D CD

#define MAX 13

int num[MAX] = {1000,900,500,400,100,90,50,40,10,9,5,4,1%;

char roman[MAX][3]
={"M","DM","D","CD","C","XC","L","XL","X","IX","V","IV","1"};

g
Q: [P [figyd (1-2000): 2007
A: MMVI
Q: [P [figyd (1-2000): 1998
A: MDMXCVIII

6. |5 Month : gl iEiy o

maxday/[] 31 (28|31 |30| 31
month[] Jan | Feb | Mar | Apr | May | Jun | Jul | Aug | Sep
#define MAX 13
int maxday[MAX] = {0,31,28,31,30,31,30,31,31,30,31,30,31%};
char month[MAX][10] = {"Jan","Feb","March",
"April”,"May","June”, "July”,"Aug”,"Sep", "Oct","Nov","Dec"};

AT
Q: month(1-12): 2
A: Feb 28
Q: month(1-12): 12
A: Dec 31
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7. No.of days from Jan 1 up to dd-mm-yy

: enter date (dd-mm-yyyy): 25-2-2005

31+25 = 56 days

: enter date (dd-mm-yyyy): 12-5-2005

31+28+31+30+25 = 145 days

. enter date (dd-mm-yyyy): 26-12-2005
31+28+31+30+31+30+31+31+30+31+30+26 = 360 days

>0 X020

7. M= FIgenDays:

a. HEHEA
Q: mmdd: 4 10 Q: mmdd: 1 10
A: 31+28+31+10 = 100 days A: 10 days

b. #FH I
Q: From date (mm1 dd1l): 3 10
To date (mm2 dd2): 6 15
A: 1/1-10/3:
dl= 31+28+10 = 69 days
1/1-15/6:
d2 = 31+28+31+30+31+15 = 166 days
d2-d1 = 166-69 = 97 days

c. FEHEHI
Q: From date (yyl mm1 dd1): 2005 3 10
To date (yy2 mm2 dd2): 2007 6 15
A: 1/1-10/3:
dl= 31+28+10 = 69 days
1/1-15/6:
d2 = 31+28+31+30+31+15 = 166 days
365x2+166-69 = 827 days

8. E # Day of the week

dowl[] Sun | Mon | Tue | Wed | Thu Fri Sat
#define MAX 7

HTHE I
Q: day (0-6): O Q: day (0-6): 5
A: Sun, Public holiday. A: Fri, School day.

Array-Exercise.doc p.3



12/28/2010

O. F[FIJ_‘ F[J for l:[J—J ’ 1&[‘5’1 IJ—J :

printf("A[0]=A[1]; \n™); fiaget -
printf("A[1]=A[2]; \n"); A[O]=A[1];
printf("A[2]=A[3]; \n"); A[1]=A[2];

printf("A[3]=A[4]; \n");
printf("A[4]=A[5]; \n");
for(i=0;i<5;i++) printf(...);

10. K% 12 signs of the Zodiac

#define MAX 13
char zodiac[MAX][5] = {"fs&", "= P "2 4,
R, R R R

zday[] [20|19|21|21|21|22|23|24|23|23|22|22
zodiac[] | S| pu | F | | = | B AT E || %R |

1 & Aquarius  01/20-02/18 7 A~ Leo 07/23-08/22
2 =Fp Pisces 02/19-03/20 8 &t Virgo 08/23-09/22
3 [I¥ Aries 03/21-04/19 9 =¥ Libra 09/23-10/22
4 &= Taurus 04/20-05/20 10 g Scorpio  10/23-11/21
5 £ Gemini 05/21-06/21 11 * | Sagittarius 11/22-12/21
6 =i Cancer 06/22-07/22 12 [I[¥ Capricorn 12/22-01/19
T P
Q:mmdd: 1 19 Q: mmdd: 1 10
Ar [T Az EE

ik VY mm {[f B % (zd=mm) > F dd< ik P pVET, 1TV mm-1 % (zd--)

11. % F[J Animals

char animal[MAX] [3]

= VBRI A R A A T R e R
animal[] | 7% | 5% ’ﬁ' Eﬁ BT |E F/d teik e | B | F
T e [Z/Dm . !
Q: 4= {5 2004 Q: &= 55: 2008
A: ¥ (2004%12=0) A: EZEEF (2008%12=4)

11. Lottery ticket:
char luckynumber[3][8]={"1234567","1726354","7654321"};

Q: fﬂ;ﬁéj%ﬁﬁ 7654321 Q: iﬁé}%ﬁ% 9999999
Al =7 Az FT e
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12. 7 {figle-iE [ 1siged Arabic to Chinese :
int num, digits[10];
char place[5][3] = {""," ","Fl","f","FJJ"};

char unit[10][3] = { ‘o, R R R A &
unit[] O = = P4 B -+ - A Je
place[] A
digits[] 4 3 2 1

a. g
Q: fij * W (0 -99,999): 1234

A: - T =AM
Q- B B (0 - 99,999): 21001
= ﬁ - 00~

b. ﬁbﬁ%}p[ﬂ[l‘k :
Q: fiy ™ ¢ (0 - 99,999,999): 1234 5678
Ar = TTRIZA PR AT

13. EP7< pay & change :

food[] U e -] A
price[] 30 12 9 5
qty[1 1 2 3 0
o
ﬁ%g;} CUPIEEL TefTH - $9x1 +$12x2 +$5x3 = 48
(9 1 W TR 100
FA($12) 2 PSIEE: $52
SN($5) 3
7II($30) O

R - mark[] (40 {7 3k)
+ 4 40 (e (0-100)
g T He (517 5 {7
mark[n]<50 > [[|+10 ;5 » F|&i7 5387 (57 5 (i)
BT Y i SISO AR 8
41 8 72 38 80 |
69 65 68 96 22 |51 8 72 48 80
69 65 68 96 32

S =2302 TH45) =575
[iffi =26
R =99 W5 = 11

Array-Exercise.doc p-5



14. P Rl mark[] (40 fi# 7 %) » freq[] (10 fi %)

fir* 40 fi# 535 (0-100)

Bi--#filyo1 2 frequency distribution table

12/28/2010

Q: i /% (0-100) : 999
i i

Q: i S5 (0-100) : 99
Q: i 51§ (0-100) : 10

HE S

B s

00—09 0 ( 0.0%)

10—-19 1 ( 2.5%) *

20—29 3 ( 7.5%) ke
3039 5 (12.5%)  *****
40—49 3 ( 7.5%) ke
5059 11 (27.590)  FHHHHkxxx
60—69 9 (22.5%)  FrEmAwrx
70—79 5 (12.5%)  *****
80—89 2 ( 5.0%) ke
90—-100 1 ( 2.5%) *

ey i 40 (100.0%)

15. %iZEEEH MC Questions & Answers
answers[] Al A | D)|C| B
Y

Ql: A Q1l: A

Q2: B Q 2:

Q10: D Q10: A

A: F%ﬁ?@’707’3 °

A: FEF3JE 3055 -

Q1-10? ABCDEABCDE
A: %¥5§ 5057 -

16. P [l box (AR » & WPt 2 - #Ej5— [WiF) -

I INE
&% 4 fEESErn (0<n<5)
15T n WA pYfip 2

AR 2 [ 3 3 1

B (R AR
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1o box[]
n | [O0]|[1]|[2]1)|[3]1][4]]I[5]
W] | - | 2| 2| 2| 2 2
Y1t | 2| 2|14 1|22
572 | O 4]0 |41 1
T
box[] 0 1 2 3 4 5
n=2 2 1 4 1 2 2
n=0 4 0 4 1 2 1
Game Over
=l
MBI R 2 HEps 240 5 [
B2
L Ul box[] (10 7 %)
2.box[0]=5; ...
3.n=random(0-9)
nth box +2
T N RLETEE FERTE | HEbox +1
’:’l’?éj‘%ﬁ;l'rbox -1
F\[E![J HERATE SHrbox +1
At | f1Erbox -1
4. FH 3,1 =1L 0 1Y 10
5.567 e box (1% O HY 10
box[4]=0 ﬁ? box[7]=10
17. #I#4="(1 §% 2 }¥) Throw a die (1-6) / 2 dice (2-12)
outcome[] 1 2 3 5 6
freq[] 200 190 210 180 220 200
percent[] 16%

n = rand()%?+7?;

17. #ﬂ?&i' rolling-a-die

Q: How many time do you want times)

to roll a die? 12000
outcome 1: 2000 (17%)
outcome 2: 1980 (15%)

outcome 6: 2010 (18%)

outcome 2:

outcome 12:

17. }ﬁjﬁﬁ@% rolling-2-dice (12000

300 (2.5%)

400 (3.3%)
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18. sy Score & =5k Grade (40 *)

score[] 40 |50 | 70 | 80 | 90
grade[] E|D|C|B]|A
AT
«FTEAI[_*L F’ﬁhL[l
24 1: 40 41 40 E
%4 20 50 ?F 2: 50 D
24 40: 70 A(3) B(7) C(10) D(15) E(5)

19. 3RSt
a. fiij Yy @ O (e.g. 30,35,40,..)

a. &% 40 {i{FEEYr (30-100) » FEH I mark[] (Seffif = git)
b. 25 il &7~ 5 (H 8 %)
C. ;%’rm@?ﬁ\ﬁ’iﬁ T B
d. 7 [Tﬁ‘:ﬁ JD 1055 J/jf/\ 80 7 » FIJJD 577
e. J@V}Em : 100 (fp | By Bl v)
fiij 578 100 i * 518 100
2% 10 100 55 100 55224 ~gp: 3+
iy 4 90 i 5387 90
B1E 9055 5% Firi0 *

f. F]¥] gsort £~ + binary search

20. {4l Water Bill: =265 <5 T HE (B1El m® wifs)

SYEE(m®) intervall] | §1 12 v 31 %19 | HER(mM®)
b4kt rate[] | $0.00 $4.16 $6.45 $9.05
FEH P
DR F)? 12
I&4'% = $0.00

D EREICR)? 22

¥4 = 0.00x12 + 4.16x10 = $41.6

DEREICER)? B3

5% = 0.00x12 + 4.16x31 + 6.45x10 = $193.5

DRI AR)? T2

J¥79 = 0.00x12 + 4.16x31 + 6.45x19 + 9.05x10 = $342.0
“I41: int consumption; // <&l m®

P C A FIP ] R RIRA

??'O??'O??'O??'O
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21. B Blackjack:
a. ];h’f’, EPHEDEES) card[] - MR FEESE 0-51

b. % 52 [ (0-51) » FrvHI| card(] (Wi i £1HD)

Bl

= FH B B

card[]

num[]
A ﬁ%iﬁ?“‘ifﬁfﬂ °
C. ASEREHCEIA » BT RO B

12/28/2010

28 25150 O | ...
S num] - F9 5 [ (0-5L)RL A = K2 -
1 1 0] .

JTLUR: 28 (f7-3) Bifk: 3
9729<: 25 (i K) %@?110
973951 50 (ifl) Q) Kt : 10
B ¢
R |1 ]2 ]3]4|5|6]7|8]9]10/J|Q]|K
|l « | 0|1 |2 |3 |4|5|6|7|8]9|]10|11]12
W | ® | 13|14 (15|16 (1718|1920 |21 |22 |23 |24 |25
Br| & |[26]27]28(29|30|31|32(33[34|35|36|37|38
il | & | 39|40 |41 |42 |43 |44 |45 |46 |47 |48 |49 |50|51
[LefuEie s e > 50w > Tl > [Kgﬁg}w o
d. (S VIVPERATEIY SR L SR T R 3 R
B Z v 21 -
e. H{;\L;?:ﬁ‘]%?:ﬁlﬁ o
22. ¥4 Shuffle Card (1-52)
card[] 2011|143 (25|51 | 7 |31
c=a;a=b; b=c; // Z@iswappinga &b
X = rand()%52+1;
y = rand()%52+1;
// Z i swapping card[x] & card[y]
23a. gl Prime Number (1-50)
prime[O1]| - | O] 1|0} 1|0| 20|10
prime[11]| 21 |/ O | 2|0} 10| 212]0]1)]O0
prime[21]| 1 | O |1 |0} 10| 212]0]1]O0
prime[32] 1 | O | 1|0} 10| 212]0]1)]O0
prime[41}]| 2 | O |10} 1|0, 2120|110
0. ¥ (Tl prime[i]
prime[i] | - 11,1111 |1)|1
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LR P n (1)

241 n {OREE REEHIE (BT n k209t o T : prime[2*n]=0
3.1k o B Oge B
4_EITHIEL-3

12/28/2010

Q: ?ﬁ“ n (n>1) ? 2
A: g Npugyd: 2,3,5,7,9,11,13,15,17,19,21,23,25,27, . ..

Q: ﬁﬁ“ n (n>1) ? 3
A: g Npugyd s 2,3,5,7,11,13,17,19,23,25,29,31,35,37, ...

Q: ﬁﬁ“ n (n>1) ?5
A: g Npugyd: 2,3,5,7,11,13,17,19,23,29,31,37,41,43,47

Q: ﬁﬁ“ n (n>1) 2?7
A: g Npugyd: 2,3,5,7,11,13,17,19,23,29,31,37,41,43,47

23b. g Prime Number (1-20)
#define MAX 50
int prime[MAX];

for(i=1;i<=MAX;i++) prime[i]=1; // assume iﬁ;l% all prime

prime[1]=0; // 1 7 {LETg
d*i 2 3 4 5 6 7 8 9 10
d=2| 4 6 8 10 12 14 16 18 20
d=3 6 9 12 15 18
d=4| 8 12 16 20
5 10 15 20
6 12 18
7 14 21
8 16
9 18
10 20
Frd=2 Bl - o0 d pURsLE (a1 R IR KRR 1Y

d=2;
do{

for (1=2;

d++;

Array-Exercise.doc

d=2; prime[4]=0;
d=3; prime[6]=0;
d=4; prime[8]=0; prime[12]=0; prime[16]=0;

1<=77?;

prime[6]=0; prime[8]=0;

prime[9]=0; prime[12]=0;

i++) prime[??]=1;
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Iwhile(d<=??);
U B CbOL | 7

24, + F’ﬁ% Mark VI (1-49)

num{[] o|1]1/1,0|1]|0O0
#define MAX 49
int num[MAX+1];
for(n=1;n<=MAX;n++) num[n]=0; /1 et n A B

for(i=1;...){

n = rand()%o...

num[?] = 1; /1 et n =R
b

Y R L e Bl 2 S Es ) B2 (F1P] do..while)

25. Lunch Box (A,B,C &) - frequency table

student[] A|lC|B|A|A|C|C
lunchbox[] 12| 8 | 17
char student[40];
int lunchbox[3];
for(i=0;i<MAX;i++){
n=rand()%o3; // 0-2
student[i]=n+'A";

¥
26. FH{#E#A: Salary Tax: http://www.ird.gov.hk/chi/tax/ind_tra.htm
TEFR T RUEE $s | RERIR r% | BUHE $tax
F’l 35,000 2% 700
Pl 35,000 7% 2,450
Pl 35,000 12% 4,200
BRAE 17%

TP R R=16%

Q: ffEiAL * [I#4E $s? 10000

A: FE = 10000%x2% = $200

Q: ffERAL T LIHHE $s? 45000

A: A = 35000x2% + 10000x7% = $1400
Q

A

D ERR T RUEEE $s? 80000
: AIF = 35000%x2% + 35000x7% + 10000x12% = $4350
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27. Queue / Stack / Linked List
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queue[] 12

17

P

<E> EnQueue +
<D=> DeQueue —
<L> List Queue

Option? E

Option? L
12 <8< 17

EnQueue? 128 170

Option? D
12 deleted from Queue.
Option? L

8 <17

Option? E
EnQueue? 12990
Option? L

8<17 <12 <99

28. Table assignment (max 10/table)

table[] 9153 |0
T
Q: No.of people? 5 Q: No.of people? 7
Smoker? N Smoker? Y
Sit together? Y Sit together? N
A: Table 2 A: Table 1 & 3

Table 1,3,5,... (Smoker), Table 2,4,6,... (Non-smoker)

29. Heat 7' & Lane ?&Lfgj

int laneArray[8]={4,5,3,6,2,7,1,8};

heat[50] 1 /1111 |1,1]|1 2
lane[50] 4 |5 13|6|2|7]|1]s8 5
for(i=0;i<50;i++){

heat[i] = ?

lane[i] = ?

}

30. ¥ Ballot (4 candidates {35 * / 0 void '51E/)

#Eivote[] | 1

1

3

1

2 14|01

- freqll | 22

15

32

10

for(i=0;i<1000;i++) vote[i] = rand()%05;

i H P

Candidate 1 22
Candidate 2 15
Candidate 3 32
Candidate 4 10

Candidate 3 wins.
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